
355mm

1
2
0
m
m

4- 8*80mm

4*M6

Expansion

Screws

Wall Mounted

Bracket

M6 Countersunk Screw

Hybrid Inverter

>900mm

>500mm

A 

B 

C 

D AC/EPS

Connection

 A. Diameter

E PV

Connection

F 

Quick Installation Instruction

Notification: 

All the fasteners must be fastened firmly as per required here, or the faults 

caused by water ingress under this situation will not be warrantied.

Clearance

Drill Holes

Installation

10~12 mm

 B. Cross Section 3~4 mm²

 C. Strip Length   ~ 10 mm

Positive Pole

Negative Pole

Cramping

Positive

Negative

Inverter

Battery

Connection

 A. Diameter 10~12 mm

 B. Cross Section 20~25 mm²

 C. Strip Length   ~ 10 mm

 Cable
Tighten

Waterproof Sleeve

Terminals

On Inverter

Red Cable

Recommendations

Install a DC isolator between battery and inverter can avoid

potential damages caused by electric arc.

2*M6 

Screws

Black Cable

Warning!

Polarity reverse will damage the inverter!



G H 

I K J 

LED Indicators

Inverter side 8
7
6
5
4
3
2
1  Inverter side Pin1 RS485-B,Inverter side Pin2 RS485-A

485-A 

485-B

8
7
6
5
4
3
2
1

Inverter side 
 RS 485:Inverter side Pin1 RS485-B,Inverter side Pin2 RS485-A

485-A 

485-B

8
7
6
5
4
3
2
1 CAN: Inverter side Pin3 CAN-L,Inverter side Pin4 CAN-H

Inverter side 

CAN-H 

CAN-L

Battery Communication Cables

Definition of Communication Cables

Meter Communication Cables

Connection of Communication Cables

Cables

Screw

Cap

Perforated

Seal Ring

Insulator

Waterproof

Cover

RJ45

Plugs

Connect AC connection and turn on AC breaker, wait till

the LED indicators on Wi-Fi module flashing.

Press the communication cables in

the seal ring via the side incisions.

Insert RJ45 plugs into correspond-

-ing ports.

Fasten the screw cap by clockwise

tightening.

Install the waterproof cover firmly

using 4*M3 screws.

Wi-Fi Module Installation

If the battery is communicated via CAN,

turn below switches on as showed.

Wi-Fi Communication Connection

4*M3X8 Screws

Enter into Wi-Fi SSID and password setting interface by

selecting “WIFI MODULE CONNECT”option at login in-

-terface of the APP, and operate along the guidance.

Install Protective Shell

3*M4 Screws

Simon Guo
矩形
压缩该区域空间（G），腾出来的空间放入一张机器底部端口示意图并指明各接口名称等。


